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ZHS & 7,475,183 6,834,183 641,000
30| EXl= ZHEZAl AL 5,728,962 5,193,962 535,000
MeAIE & SA&I 243t 5,532,290 4,997,290 535,000
THeHAIE EAd 3t 607,291 594,291 13,000
201 LEr2FH| 120,341 107,341 13,000
55,620 42,620 13,000 02 Z2 2| 13,000
O1.3322ZHA 13,000
—AHE ¥ HE M) - &R
438 40,000,000& - J1& 27,000,000& = 13,000
ETAMNE =XUE L (EX) 3,079,392 3,067,392 12,000
401 AIEHIZ 2B 3,079,392 3,067,392 12,000
24,392 12,392 12,000 06 Al&S20HYI 12,000
OFZAE FIUHE X4 UHEX 2HEI =42
12,000, 000& *14A! = 12,000
THeHAIE BYMA XJA(BX) 96,500 86,500 10,000
307 QI2tol A 96,500 86,500 10,000
10,000 0 10,000 [ 04 BIZ+HALE & 10,000
OA=60=EI1E MEAZE OIHERMAL XIJ(H45E
) 10,000,000& = 10,000
(=2 10,000]
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= 250,000]
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IHEME A3 777,724 795,724 18,000
ZHel BB & 777,724 795,724 18,000
THEAS RISHES 23 577,224 595,224 18,000
307 ©12+0| & 39,000 57,000 18,000
33,000 51,000 A18,000|02 QI2HA AR = A18,000
OMANMEA HAHSAUS DEHSHIIOY|
donz A% 02 - J|F 18,000,0002 = 18,000
OIEARIZS & ChAOIE X JHE 393,689 269,689 124,000
WUHK Hot 2 S 393,689 269,689 124,000
MHKIAIEINE L B2 (EX) 124,000 0 124,000
402 QI2HXHE 0| A 124,000 0 124,000
124,000 0 124,000( 01 QX =22 X 124,000
ONASE L3 82 L FIAIE DHAL 124,000
s 2oy 6500002 +1340t 7 = 87,100
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